## **MEMORANDUM**

8-4

TO:

Richard Dionisio, Supervisor/Mayor

and Town Board Members

FROM:

Gerry Salvo, Superintendent of Recreation

DATE:

April 14, 2022

SUBJECT:

Monthly Report - March 2022

Attached please find the monthly program and activities report for the Harrison Recreation Department for the month of March 2022

## Harrison Recreation Department Attendance and Program Report: March 2022

Sollazzo Activity	Number of Sessions	ons Number of Participant	
Men's Soccer	4	12 - 13	50
Fitness Room Day	25	10	250
Fitness Room Nights	21	6 - 7	129
Sollazzo Center Drop In Day	25	14 - 15	370
Sollazzo Center Drop In Nights	22	11 - 12	260
Adult Pick-Up Basketball	5	13	65
Sun. & Wed. Basketball	9	15	135
Minds In Motion	6	12	72
Tumbling	3	16	48
Archery	4	18 - 19	75
Southeast Consortium	2	27 - 28	55
TOTALS	126	TOTALS	1509

Leo Mintzer Center	Number of Sessions	Number of Participants	
AA Meetings	9	20	180
Battle for Salvation	4	14	56
Parents Helping Parents			
LMCC Drop in Day	27	3 - 4	105
LMCC Drop in Night	17	7 - 8	120
Minds in Motion	8	20 – 21	165
Cooking Class			
Youth Basketball Practice	11	9	99
Kinderbox			
Boy Scouts	4	11	44
Girl Scouts	2	14 - 15	29
TOTALS	82	TOTALS	798

## Harrison Recreation Department Attendance and Program Report: March 2022

West Harrison Seniors	Number of Sessions	Number of Participants
Game Day Drop In - Bridge, Mahjongg, Canastra	19	7 133
Lunch Program		
Exercise Class	5	8 40
Bingo/Thursday Meetings	5	30 150
Carnival Luncheon – WH		
TOTALS	29	TOTALS 323

West Harrison Annex Community Center Little League Meeting	Number of Sessions		Number of Participants	
	2		30	60
Day Camp Meeting	1			20
Bright View Meeting	1			30
Parties	2		112 - 113	225
Community Meetings	3		20	60
Flag Football Meeting	. 1			25
TOTALS	10		TOTALS	420

West Harrison Park	Number of Sessions	Number of Participants	
,			
TOTALS		TOTALS	

## Harrison Recreation Department Attendance and Program Report: March 2022

Harrison Community Center & Veterans Building	Number of Sessions	Number of Participants	
A.A.	8	30	240
Southeast Consortium	2	50	100
ICLU	1		10
Dance Classes	16	22 - 23	360
Harrison Players	21	26 - 27	550
Westchester Brassman Practice	4	25	100
Yoga	4	20	80
Dance Rehearsal	1		30
Blood Drive	1		50
TOTALS	58	TOTALS	1500

Down Town Seniors	Number of	Sessions	ons Number of Participan	
Game Day Drop In - Bridge, Mahjongg, Canastra	23		25	575
Lunch Program				
Exercise Class	5		12	60
Bingo/Friday Meetings	4		40	160
St Patrick's Luncheon (Combined)	1			35
Mohegan Sun Trip (Combined)	1			35
TOTALS	34		TOTALS	865